r//

[(B) CoMEIE, BREESSDET.

1R (wEmEE (BES 30)

(1] f(0)=sin20+sinf@—cosh, 0<0=<x &L, t=sinf—cosl &9 %,

© £ =[71] f<§)= TH %o

2 t= /m(e— ) LERTEBDOT, 0 0= 0= OFE

2W LS, toEvEEORAE [Hx |<t< /[ 7 | o5,

(B2 - H%B B 10 Ba~N—J 18 <)

i



% 2[E

@ sin20=[ 7 Jsinfcosd THZD5, *=[ 3 |-sin26 L%

F(O) % tE#ANTET &

s =3 J¢+ e[~ ]

THbo

H

N 0<0=r OEFEZEEX, f(0)1F t=

BV TEAE

H

t——— DEEDORaETHE, sinafzrg- J+_ r/J THbo

(B2 - BB 810 @RNX-VICH<.)




(2] FEOFEExICHLT, Zo0E%K%
f(x)=log,x, g(x)=logix+4

ZEZ Do

© r@=[+r_] f(§)= THBe

2) EOEHARITED g(x) X

g(x)=
|
EERIND,
EoT, x DFER f(x)=29(x) &

logus =

ERBEENZDH, TOMRIT

x=E7

TH%o

log,x +4

(BEI - BFB F1H BRN—TICH<.)




$2H

3B RER f(x)=9(x) 2EZ 5
ZORER BT BB x OEH TH%e



